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• The Instrumentation version of this is it’s intrinsic differential noise floor.    The need to raise the 

input referred noise floor to the “eta_0” level as a pre-requisite to performing VEC calculations, 

suggests the instruments noise floor is below that of eta_0 to begin with. 

• The proposed level for eta_0 settled on our 03/25 meeting was 4.1e-8V^2/GHz  which when 

integrated across 40GHz translates to 1.28mV RMS (differential)  in terms of a minimum 

instrument noise floor V-RMS = sqrt(4.1e-8V^2/GHz * 40GHz)=1.28e-3V RMS
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• http://www.ieee802.org/3/ck/public/adhoc/feb19_20/hidaka_3ck_adhoc_01_021920.pdf

IEEE 802.3ck

http://www.ieee802.org/3/ck/public/adhoc/feb19_20/hidaka_3ck_adhoc_01_021920.pdf


4IEEE 802.3ck



Backup Content



6

• Sampling noise (with CDR) on equivalent time 

instrumentation is ~.8mV.   Differentially this 

would be sqrt(2) * .8mV = 1.13mVrms

• +0.14mVrms margin

• Note this is at 50GHz not 40GHz
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• Real-time instrumentation at 40GHz and a 400mV 

single ended signal operates at aproximatly1.8mV 

rms.  Differential at 800mV would have an intrinsic 

noise floor of sqrt(2) * 1.8mV = 2.5mV rms. 

IEEE 802.3ck


